







• Q: What should a cdf look like?  
• Theorem. If 
$$F_X$$
 is the cdf of a r.v.  $X$ , then it must satisfy the following properties:  
(1)  $0 \le F_X(x) \le 1$ .  
proof.  $0 \le F_X(x) = P(\{\omega \in \Omega : X(\omega) \in (-\infty, x]\}) \le 1$ .  
(2)  $F_X(x)$  is nondecreasing, i.e.,  $F_X(a) \le F_X(b)$  for  $a \le b$ .  
proof. For  $a \le b$ ,  $(-\infty, a] \subset (-\infty, b]$ ,  
 $F_X(a) = P_X((-\infty, a]) \le P_X((-\infty, b]) = F_X(b)$ .  
(3) For any  $x \in \mathbb{R}$ ,  $F_X(x)$  is continuous from the right, i.e.,  
 $F_X(x) = F_X(x+) \equiv \lim_{n \to \infty} F_X(t)$ ,  
proof. Let  $x_n$  be a sequence s.t.  $x_n \downarrow x$ .  
Let  $E_n = (-\infty, x_n]$ . Then,  $E_{n+\downarrow}(-\infty, x]$ .  
 $F_X(x) = P_X((-\infty, x]) = P_X(\lim_{n \to \infty} E_n)$   
 $= \lim_{n \to \infty} F_X(x_n)$   
MIHU MATH 22(0, 2024. Lectore Notes  
mode by S-W Cheng (MHU Tawan)  
 $= \lim_{n \to \infty} F_X(x_n)$   
(4)  $\lim_{m \to \infty} F_X(x) = 1$  and  $\lim_{x \to -\infty} F_X(x) = 0$ ,  
proof. Let  $x_n \downarrow -\infty$ . Then,  $E_n \equiv (-\infty, x_n] \downarrow \emptyset$ .  
 $\lim_{n \to \infty} F_X(x_n) = \lim_{n \to \infty} P_X((-\infty, x_n])$   
 $= -P_X(\lim_{n \to \infty} E_n) = P_X(\emptyset) = 0$ .  
Similarly, if  $x_n \uparrow \infty$ , then  $E_n \equiv (-\infty, x_n] \uparrow \emptyset$ . and  
 $\lim_{n \to \infty} F_X(x_n) = \lim_{n \to \infty} P_X((-\infty, x_n])$   
 $= -P_X(\lim_{n \to \infty} E_n) = P_X(\emptyset) = 1$ .  
(5)  $P_X(X > x) = 1 - F_X(x)$  and  $P_X(a < X \le b) = F_X(b) - F_X(a)$ .  
For  $a < b, (-\infty, a] \subset (-\infty, b]$ , and  
 $P_X(a < X \le b) = P_X((-\infty, b]) \setminus (-\infty, a])$   
 $= P_X((-\infty, b]) - P_X((-\infty, b]) = -F_X(a)$ .





p(-1) = .10, p(0) = .25, p(1) = .30, p(2) = .35 $\wedge$  = center of gravity = .9







• Q: Given an event 
$$A_0 \subseteq \Omega_0$$
, what is the probability that  $A_0$   
• Problem Formulation: Let  $A_i \subseteq \Omega$  be  
 $A_i = \{A_0 \text{ occurs on the } i^{th} \text{ trial}\}$ , and  
 $X = \underline{1}_{A_1} + \dots + \underline{1}_{A_n}$ ,  
Q: What is  $P(X=k)$ ?  
(Note:  $A_1, \dots, A_n$  are assumed to be independent events.)  
• Example (Roulette,  $n=4, k=2, LNp.3-4$ ).  
• Let  $W_i = \{W \text{ in on } i^{th} \text{ Game}\}$ .  
Then,  $P(W_i)=\underline{9}/19 \equiv p$  and  $P(L_i)=\underline{10}/19=1-p=q$   
• Let  $X = \underline{1}_{W_1} + \underline{1}_{W_2} + \underline{1}_{W_3} + \underline{1}_{W_4}$ , then  
 $\{X = 2\} = (W_1 \cap W_2 \cap L_3 \cap L_4) \cup (W_1 \cap L_2 \cap W_3 \cap L_4) \cup (U_1 \cap U_2 \cap L_3 \cap W_4) \cup (L_1 \cap U_2 \cap W_3 \cap L_4) \cup (U_1 \cap U_2 \cap U_3 \cap W_4) \cup (L_1 \cap U_2 \cap W_3 \cap U_4) \cup (U_1 \cap U_2 \cap U_3 \cap W_4) \cup (U_1 \cap U_2 \cap W_3 \cap U_4) \cup (U_1 \cap U_2 \cap U_3 \cap U_4) \cup (U_1 \cap U_2 \cap U_3 \cap U_4) \cup (U_1 \cap U_2 \cap U_3 \cap U_4) \cup (U_1 \cap U_2 \cap U_4 \cap U_2 \cap U_4 \cap U_4) \cup (U_1 \cap U_2 \cap U_4) \cup (U_1 \cap U_2 \cap U_4) \cap U_4 \cap U_4$ 

• (exercise) Show that the following function is a pmf.  

$$f(k) = \begin{cases} -\binom{n}{k}p^k(1-p)^{n-k}, & k = 0, 1, \dots, n, \\ 0, & \text{otherwise.} \end{cases}$$
• The distribution of the r.v. X is called the binomial distribution with parameters n and p. In particular, when n=1, it is called the Bernoulli distribution with parameter p.  
• Notice that a binomial r.v. can be regarded as the sum of n independent Bernoulli r.v.'s.  
• The binomial distribution is called after the Binomial Theorem:  $(a + b)^n = \sum_{k=0}^n \binom{n}{k}a^kb^{n-k}$ .  
• Example (Bridge). Q: What is the probability that South gets no Aces on at least k=5 of n=9 hands?  
• Let A<sub>i</sub>={no Aces on the i<sup>th</sup> hand}, i=1, 2, ..., 9, and  $X = \underline{1}_{A_1} + \dots + \underline{1}_{A_0}$ .  
• Then,  $P(A_i) = \binom{48}{13} / \binom{52}{13} \approx 0.3038 \equiv \underline{p}$ .  
NITHUMATE 200 2000 Lecture Notes  
made by S.W. Cheng (NTHU, Taiwan)  
• So,  $\underline{P(X = k)} = \binom{9}{k}p^k(1-p)^{n-k}$ .  
• And,  $\underline{P(X \ge 5)} = \sum_{k=5}^n \binom{9}{k}p^k(1-p)^{n-k} \approx 0.1035$ .  
> Theorem. The mean and variance of the Binomial (n, p) distribution are  
 $\underline{\mu = np}$  and  $\sigma^2 = np(1-p)$ .  
proof.  
 $E(X) = \sum_{x=0}^n x \binom{n}{x} p^x(1-p)^{n-x} = \sum_{x=1}^n x \cdot \frac{n!}{x!(n-x)!} p^x(1-p)^{n-x}$ .  
 $= \sum_{x=1}^n \frac{n \cdot (n-1)!}{(x-1)!(n-x)!} \cdot p \cdot p^{x-1}(1-p)^{n-x}$ .  
 $= np \sum_{x=1}^n \binom{(n-1)}{x-1} p^{x-1}(1-p)^{(n-1)-(x-1)} = np$ .

$$E[X(X-1)] = E(X^2 - X) = E(X^2) - E(X)$$

$$= \sum_{x=0}^{n} x(x-1) {n \choose x} p^x (1-p)^{n-x}$$

$$= \sum_{x=2}^{n} x(x-1) \cdot \frac{n!}{x!(n-x)!} p^x (1-p)^{n-x}$$

$$= \sum_{x=2}^{n} \frac{n(n-1) \cdot (n-2)!}{(x-2)!(n-x)!} \cdot p^2 \cdot p^{n-2} (1-p)^{n-x}$$

$$= n(n-1)p^2 \sum_{x=2}^{n} {n-2 \choose x-2} p^{x-2} (1-p)^{(n-2)-(x-2)}$$

$$= n(n-1)p^2$$

$$Var(X) = E(X^2) - [E(X)]^2 = [E(X^2) - E(X)] + E(X) - [E(X)]^2$$

$$= n(n-1)p^2 + np - n^2p^2 = np(1-p)$$

$$\geq \text{Summary for } X \simeq \text{Binomial}(n, p)$$

$$= \text{Range: } \mathcal{X} = \{0, 1, 2, ..., n\}$$

$$= \frac{\text{Pmf!}}{\text{Parameters: } n \in \{1, 2, 3, ...\} \text{ and } 0 \le p \le 1$$

$$\text{Mean: } E(X) = np$$

$$= \frac{\text{Mean: } E(X) = np(1-p)$$

$$\Rightarrow \text{Summary for } X \simeq \text{Binomial} \text{Distributions}$$

$$\geq \text{Experiment: } A \text{ basic experiment with sample space is}$$

$$= \Omega_0 \times \Omega_0 \times \Omega_0 \times \cdots$$

$$= \text{Assume that events depending on different trials are independent$$

$$= \text{For a given event } \underline{A_0} \subset \Omega_0, \text{ we continue performing the trials until  $\underline{A_0} \text{ occurs exactly } r \text{ times}$ 

$$= Q: \text{ What is the probability that we need to perform k trials?}$$$$

• Example.  
• A company must hire 3 engineers.  
• Each interview results in a hire with  
probability 1/3  
• Q: What is the probability that 10  
interviews are required?  
• We need: (i) Success on the 10<sup>th</sup>  
interview (ii) 2 hires on the first  
9 interviews  
• So, the probability is  
• So, the probability is  
• Problem Formulation:  
• Let 
$$A_{1,}A_{2,...} \subset \Omega$$
 be  
 $A_{i} = \{A_{0} \text{ occurs on the } i^{th} \text{ trial}\},$   
and  
 $X_{n} = 1_{A_{1}} + \dots + 1_{A_{n}}, \text{ for } n = 1, 2, 3, \dots$   
Minimum Minimum Value 2024. Lecture Notes  
mode by S. W. Chem Minimum Notes  
• Let  $Y_{1} = \text{smallest } n$  with  $X_{n} \ge 1,$   
 $Y_{2} = \text{smallest } n$  with  $X_{n} \ge 2,$   
 $\dots,$   
 $Y_{r} = \text{smallest } n$  with  $X_{n} \ge 2,$   
 $\dots,$   
 $Y_{r} = \text{smallest } n$  with  $X_{n} \ge 2,$   
 $\dots,$   
 $Y_{r} = \text{smallest } n$  with  $X_{n} \ge n$ ,  
• Det  $A_{1,}A_{2,...}$  be independent and  $P(A_{i})=p, i=1, 2, 3, \dots$   
• Then, for  $k = r, r + 1, r + 2, \dots$ ,  
 $P(Y_{r} = k) = \binom{k-1}{r-1}p^{r}(1-p)^{k-r}.$   
 $P(Y_{r} = k) = \binom{k-1}{r-1}p^{r}(1-p)^{k-r}.$   
 $P(X_{k-1} = r-1) \cap A_{k})$   
 $= P(\{X_{k-1} = r-1\}) \cap P(A_{k})$   
 $= (\binom{k-1}{r-1}p^{r-1}(1-p)^{k-r}p$ 

• (exercise) Show that the following function is a pmf.  

$$f(k) = \begin{cases} \binom{(k-1)}{p^r} p^r (1-p)^{k-r}, \quad k = r, r+1, \dots, \\ 0, \quad \text{otherwise.} \end{cases}$$
• The distribution of the r.v.  $Y_r$  is called the negative binomial distribution with parameters  $r$  and  $p$ . In particular, when  $r=1$ , it is called the geometric distribution with parameter  $p$ .  
• A negative binomial r.v. can be regarded as the sum of  $r$  independent geometric r.v.'s.  
• The negative binomial distribution is called after the Negative Binomial Theorem:  
 $\frac{1}{(1-r)^r} = \sum_{k=0}^{\infty} \binom{r+k-1}{k} t^k$ , for  $|t| < 1$ .  
NTHU MATH 2810, 2024. Lecture Notes  
made by S.W. Cheng (NTHU Tawan)  
**b** Theorem. The mean and variance of negative binomial $(r, p)$  is<sup>p 100</sup>  
 $proof.$   $\frac{\mu = r/p}{p}$  and  $\sigma^2 = r(1-p)/p^2$ .  
 $E(X) = \sum_{x=r}^{\infty} \binom{(x+1)-1}{r(r+1)-1} p^{r+1}(1-p)^{x-r+1} = r/p$   
 $= \frac{r}{p} \sum_{x=r}^{\infty} \binom{(x+1)-1}{r(r+1)-1} p^{r+1}(1-p)^{y-(r+1)} = r/p$   
 $E[X(X+1)] = E(X^2 + X) = E(X^2) + E(X)$   
 $= \sum_{x=r}^{\infty} x(x+1)\binom{x-1}{r-1} p^r(1-p)^{x-r}$   
 $= \frac{r(r+1)}{p^2} \sum_{x=r}^{\infty} \frac{(x+1)r \cdot (x-1)!}{(r+1) \cdot (r-1)!(x-r)!} p^{r+2}(1-p)^{(s+2)-(r+2)}$   
 $= \frac{r(r+1)}{p^2} \sum_{x=r}^{\infty} \binom{(x+1)r \cdot (x-1)!}{(r+2) - 1} p^{r+2}(1-p)^{(s+2)-(r+2)}$   
 $= \frac{r(r+1)}{p^2} \sum_{x=r}^{\infty} \binom{y-1}{(r+2) - 1} p^{r+2}(1-p)^{(r+2)-(r+2)}$   
 $= r(r+1)/p^2$ 

$$\begin{split} & Var(X) = E(X^2) - [E(X)]^2 = [E(X^2) + E(X)] - E(X) - [E(X)]^2 \qquad \stackrel{p \text{-stat}}{p^2} \\ &= \frac{r(r+1)}{p^2} - \frac{r}{p^2} = \frac{r(1-p)}{p^2} \\ &\Rightarrow \text{Summary for } X \sim \text{Negative Binomial}(r, p) \\ &= \text{Range: } \mathcal{X} = \{r, r+1, r+2, \ldots\} \\ &= \text{Parameters: } r \in \{1, 2, 3, \ldots\} \text{ and } 0 \leq p \leq 1 \\ &= \text{Mean: } E(X) = r(p) \\ &= \text{Variance: } Var(X) = r(1-p)/p^2 \\ &\Rightarrow \text{Poisson Distribution} \\ &\Rightarrow \text{Recall: Expression for } e^x, e=2.7183\cdots \\ &= \frac{1 \text{ st Expression: } e^x = \lim_{n \to \infty} (1 + \frac{x}{n})^n \\ &= \frac{2 \text{ nd Expression: } e^x = \sum_{k=0}^{\infty} \frac{1}{k!} x^k. \\ &\Rightarrow \text{ The Derivation} \\ &= \text{ Consider a sequence of binomial}(n, p_n) \text{ distributions satisfying} \\ &= (2 \text{ on sider a sequence of binomial}(n, p_n) \text{ distributions satisfying} \\ &= (2 \text{ on sider a sequence of NHU MATH 2810 2004 Lecture Notes} \\ &= \frac{nade by S-W. \text{ Cheng (NHU) Tabwan}}{1 \text{ made by } S-W. \text{ Cheng (NHU) Tabwan}} \\ &= \frac{nade}{n} \frac{\binom{n}{k} p_n^k (1 - p_n)^{n-k}}{n^k} = \frac{1}{k!} \lambda^k \frac{(n)_k}{n^k} \left(1 - \frac{\lambda}{n}\right)^{n-k}. \\ &= \frac{1}{n + \infty} \frac{(n)_k}{n^k} = 1 \text{ and } \lim_{n \to \infty} \left(1 - \frac{\lambda}{n}\right)^{n-k}}{n^{-k}} = e^{-\lambda}. \\ &= \text{ In other words, when } n \text{ large, } n \gg k, \text{ and } p_n \approx 0. \\ &= (n)_k p_n^k (1 - p_n)^{n-k} \approx \frac{1}{k!} \underline{\lambda^k} \frac{e^{-\lambda}}{n}. \\ &= \frac{(n)_k}{n} p_n^k (1 - p_n)^{n-k} \approx \frac{1}{k!} \underline{\lambda^k} \frac{e^{-\lambda}}{n}. \\ \end{array}$$

$$\sum_{k=0}^{p + 33}$$

$$\sum_{k=0}^{p$$





Probability Mass Function
• Theorem. For k = 0, 1, 2, ..., n,
P(X = k) = 
$$\frac{\binom{R}{k}\binom{N-R}{n-k}}{\binom{N}{n}}$$
.
(Notice that  $\binom{r}{k} \equiv 0$  when either t<0 or r.)
proof. Label the N balls as  $r_1, \ldots, r_R$ ,  $w_1, \ldots, w_{N-R}$ .
 $\Omega$ : combinations of size n from N different balls.  $\Rightarrow \#\Omega = \binom{N}{n}$ 
If  $0 \le k \le R$  and  $0 \le n-k \le N-R$ ,
k red balls may be chosen in  $\binom{N}{n-k}$  ways.
n-k white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  withe balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  white balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  withe balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  withe balls may be chosen in  $\binom{N-R}{n-k}$  ways.
 $\frac{n-k}{k}$  ( $k \le R = \binom{N}{n-k}$ ) ( $k \ge \binom{N-R}{n-k}$ .
• The distribution of the r.v. X is called the hypergeometric as the hypergeometric as the hypergeometric distribution is called after the hypergeometric identity:
 $\binom{a+b}{r} = \frac{r}{k} \binom{n}{k} \binom{k}{r-k}$ .
> Theorem. The mean and variance of hypergeometric(n, N, R) are  $\mu = \frac{nR}{N}$  and  $\sigma^2 = \frac{nR(N-R)(N-n)}{\binom{N}{2}}$ .
**Proof.**
E(X) =  $\sum_{x=0}^{n} x \cdot \frac{\binom{R}{k} \binom{(N-1)-(R-1)}{n-k}} = \frac{nR}{N} \sum_{y=0}^{N-1} \frac{\binom{(R-1)-(N-1)-(R-1)}{\binom{N-1}{n-1}}} = \frac{nR}{N}$ 

$$\begin{split} F[X(X-1)] &= F(X^2 - X) = F(X^2) - F(X) \\ &= \sum_{x=0}^{n} x(x-1) \cdot \frac{\binom{R}{p}\binom{N-R}{n}}{\binom{N}{n}} = \sum_{x=2}^{n} x(x-1) \cdot \frac{R!}{x!(R-x)!} \cdot \frac{\binom{N-R}{n}}{\binom{N}{n}} \\ &= \frac{n(n-1)R(R-1)}{N(N-1)} \sum_{x=2}^{n} \frac{\binom{R-2}{(x-2)}\binom{(N-2)-(R-2)}{\binom{N-2}{n-2}}}{\binom{N-2}{(n-2)}} \\ &= \frac{n(n-1)R(R-1)}{N(N-1)} \sum_{y=0}^{n-2} \frac{\binom{R-2}{y}\binom{(N-2)-(R-2)}{\binom{N-2}{(n-2)}}}{\binom{N-2}{(n-2)}} = \frac{n(n-1)R(R-1)}{N(N-1)} \\ &\quad Var(X) = F(X^2) - [F(X)]^2 = [F(X^2) - F(X)] + F(X) - [F(X)]^2 \\ &= \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^2 = \frac{nR(N-R)(N-n)}{N^2(N-1)} \\ &\geq \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^{pk} (1-p)^{n-k}. \\ &\qquad \frac{n(n-1)R(R-1)}{N(N-1)} + \frac{nR}{N} - \left(\frac{nR}{N}\right)^{pk} (1-p)^{n-k}. \\ &\qquad \frac{n(n-1)R(R-1)}{(N_1} + \frac{nR}{N(R-R)} + \frac{n(n-1)R(R-1)}{(N_1} + \frac{n(N-R)(N-n)}{N(N-1)} \\ &= \frac{n(n-1)R(R-1)}{\binom{R}{N}} + \frac{n(n-1)R(R-1)}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-n)!}{(N_1} + \frac{n(N-R)(N-R)!}{(N_1} + \frac{n(N-R)(N-R)!}{(N$$